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( Semester Il ) £ - Koketa-700125
Full Marks : 60 Time : 2:30 Hours

[The figure in the margin indicates full marks. Candidates are required to give their answers in their own
words as far as practicable.]

Group-A - 5
(Multiple Choice Type Question) 1x15=15 e <
1. Choose the correct alternative from the following : s 2
.
() Examine if A and B are mutually exclusive events , then 7 *
a) P(ANB) =P(A).P(B) b) P(ANB)=P(A)+P(B) =

c) P(ANB) =0 d) None of these
(i) Let E(T1)=0 =E(T2),where T1,T2 are linear functions of the sample observations.
Recognize, if Var(T1)< Var(T2) then:

a) T1 is an unbiased linear estimator b) T1 is BLUE

¢) T1 is a consistent linear unbiased d) T1 is consistent best linear unbiased
estimator estimator.

O (i) Binomial distribution deals with . Choose the correct option.
a) Continuous random variable b) Discrete random variable
¢) Continuous & Discrete random variable d) None of the mentioned
(iv) The probability of success in a Bernoulli trial is 0.3.Calculate the variance of the

probability distribution.
0.09 b) 0.21

:; 0.9 d) 0.021

Three companies A, B and C supply 25%, 35% and 40% of the notebooks to a
school. Past experience shows that 5%, 4% and 2% of the notebooks produced by
e companies are defective. If a notebook was found to be defective, compute the

(v)

thes
probability that the notebook was supplied by A.
b) 25/69
44/69
i; 21/69 d) 67/69
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(vi) Recall The maximum value of Probability of Type I Error will be always
a) =a% b) <a%

¢c) <a% d) >a
(vii) If B is the probability of Type Il error, then name (1-B)
a) Type | error b) Level of significance
c) Power of the test d) Critical Region
(viii) The correlation coefficient between numbers obtained by students in math test and
number of accidents in a road is ,select the correct answer

b) Negative

a) Positive
c) zero d) none of these
(ix) The value of Rank correlation coefficient lies between, select the correct option
yi a)0tol b) -1to 1
d) -00 tQ oo

21zt G)ll?_l to .O‘I
-~epne. (x)..1et E(T1)=0 where 0 being an unknown parameter. if Var(T1)< Var(T2) for T2 to be

any other unbiased estimator, then choose the correct option

a) T1 is minimum variance unbiased b) T1 is BLUE

estimator.
d) T1 is consistent best linear unbiased

) T1 is a consistent unbiased estimator. :
Y estimator.
(xi) The standard deviation of a chi square distribution with n df is, choose the correct

gg g option

x
S a) V2n b) 2n
Q 5 c) Vo d) None of these
"‘g (xii) Identify the variance of Geometric Distribution is
S g 8 o7t b)
@ § a/p
q’/p

2
9 p(1-p)/g d) q(1-q)/p?
(xiii) Suppose 5 observations from a Normal population is taken: 18,12,16,14,15. Estimate the
maximum likelihood estimator of the population mean?
a) 18 b) 12
c) 15 d) None of these
(xiv) Identify which of the following formula is used to find dispersion when we have an open
end classes for grouped data,
b) Standard deviation

a) Range
¢) Mean deviation d) Quartile deviation

(xv) Binomial distribution deals with - Choose the correct option.
a) b) Discrete random variable

Continuous random variahle

¢) Continuous & Discrete random variable d) None of the mentioned

Group-B
(Short Answer Type Questions)

2. Compute the value of mean for poisson (A) distribution,
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3. Define population and sample with example.

(3)
4. Define parameter and statistics with example. (3)
5. Describe scatter diagram with graph. (3)
6. Suppose a sample is taken from a normal distribution with mean X =0.354 and population S.D= (3)

0.048. If the sample size is taken to be 15 ,estimate a 95% confidence interval for population
mean(p).

OR
Suppose a sample is taken from a normal distribution with proportion p=0.354 and If the sample (3)
size is taken to be 15 ,estimate a 95% confidence interval for population proportion(P).

be RY
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Group-C waﬂ" Kolketa -
(Long Answer Type Questions) 5x6=30

7. Describe the assumptions of linear regression.

8. The mean yield for one acre plot is 662kilos with a s.d 32kilos. Assuming normal distribution,

(5)
estimate how many one acre plots in a batch of 1000 plots would you expect to have yield i) over
700 kilos, ii)below 650 kilos.

A random sample of 400 is taken from a large number of coins. The mean weight of the (5)

coins in the sample is 28.57 gms and s.d is 1.25 gms. What are the limits which have a
95% chance of including the mean weight of all the coins.

10. Describe one tailed and two tailed tests.

(5)

11. Describe simple and composite hypothesis bricfly with examples. (5)
12. A sample of nine plastic nuts yielded an average diameter of 3.1 cm with sample ()
standard deviation of 1.0 cm. It is assumed from design and manufacturing requirements

that the population mean of nuts is 4,0 cm. Evaluate the mean diameter of plastic nuts
being produced.

OR
A fertilizer mixing machine is set to give 12 kg of nitrate for every quintal bag of
fertilizer. Ten 100 kg bags are examined. The percentage of nitrate are: 14, 11,13, 12, 13
12,13, 11, 13, 12. Evaluate if there is a reason to believe that the machine is defective?
Critical value for t-distribution for 9 d.f. is 2.262. '

(S)
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